NENEPYTKACT BEHTWUI (INOX) - TIPUPABHUYKHA
LUG TYPE BUTTERFLY VALVE PN 16
DN 40 ... DN 600
PA3MEP / SIZE; 1 1/2” ... 24”
CTAHOAPOM HA NMPUPABHULIN PN 10/16
FLANGE STANDART PN 10/16

E

He

"Mopaay NocTojaH pa3Boj Ha HalLMTe NPOK3BOAW, HUE rO 3aiPXKyBame NPaBoTo [ja ro MeHyBaMe HalLVoT MPOM3BOAEH AU3ajH U nsrpaabda 6e3 npeTxoaHa Hajasa."

“Due to continuous development of our products, we reserve the right to modify our product design or construction without pior notice.”

37

CeE

T &

KAPAKTEPUCTMKN HA MATEPUJANOT / MATERIALS AW3AJH/DESIGN | TSEN 593
PASMEP MOMEFY MPYPABHIHKV CTIOJ TS ISO 7005-2
NO MME HA JENOT PART NAME MATEPWUJAN MATERIAL FLANGE AND THEIR JOINTS BS EN 1092-2
PA3MEP MOMETY MPUPABHLA TS EN 558-1
1 TENO BODY GG25/GGGA0 GG25/GGGA0 EACE TO FACE DIMENSIONS CEPVJA. SERIES 20
2 QVCK DISC HEPFOCYBAUKW YENVIK | STAINLESS STEEL
3 ETTy ViR e Socio VCTIUTYBAHSE / TESTS TSEN 12266-1
4 FOPHO /[JONHO CTEBNO| TOP/BOTTOM STEM | HEPFOCYBAUKV YENMK| STAINLESS STEEL
5 CEQNO SEAT EPDM/NBR EPDM/NBR
6 YEN PLUG YENMK STEEL °
7 3AMTMBAY PACKING ®UBEP CTAKIO FIBERGLASS q_
Cure AOUMEH3nn MoXat aa 614‘16'[ OnpeMeHn Co payeH peaykTop, NHEBMATCKU NN eNeKTpUYeH akTyaTop.
Al sizes can be equipped with gearbox or pneumatic, electric actuator. c
PN 10 PN 16 <«
DN [ebemra 3ABPTKMW / BOLT [esena | BABPTKM /BOLT ]
k n od Th(‘ﬁne)ss Mepka x lomkvHa | 1y k n ad Trzm?s Mepka x [lormxuHa m oD c t E F
b mxL n b mxL n
0 | 10| 4 19 18 M16x30 8 | 110 | 4 19 18 M16x30 8 —
22 :iz : :Z zg wzxas 8 | 125 | 4 19 20 M16x35 8 10 c
X35 8 | 145 | 4 19 20 M16x35 8
80 | 160 | 8 19 20 M16x35 16 | 160 | 8 19 20 M16x35 16 m
100 | 180 | 8 19 22 M16x45 16 | 180 | 8 19 22 M16x45 16
125 | 210 | 8 19 22 M 16x45 16 | 210 | 8 19 22 M16x45 16 265 Q
150 | 240 | 8 23 24 M20x50 16 | 240 | 8 | 23 24 M20x50 16 -
200 | 295 | 8 23 24 M20x50 16 | 205 | 12 | 23 26 M20x50 24 1
250 | 350 | 12 | 23 26 M20x55 24 | 355 | 12 | 28 29 M24X60 24 355
300 | 400 | 12 | 23 26 M20x60 24 | 410 | 12 | 28 32 M24x65 24 h
350 | 460 | 12 | 23 28 M20X70 24 | 470 | 16 | 28 35 M24x75 32 318 8 35.1
400 | 515 | 16 | 28 32 M24x80 32 | 525 | 16 | 31 38 M27x85 32 333 10 36.6
450 | 565 | 16 | 28 36 M24x90 32 | 585 | 20 | 31 42 M27x95 40 38.1 10 414
500 | 620 | 20 | 28 38 M24x95 40 [ 650 | 20 | 34 46 M30X105 40 [ 413 10 446
600 | 725 | 20 | 31 42 M27x115 40 | 770 | 20 | 37 52 M30x125 40 50.8 16 55.10
. TOPHA TPAPAGHALA o TEMMNEPATYPA / IPUTACOK
DN | og | H1 | H2 | H3 | H4 B L w (Weight) TEMPERATURE / PRESSURE
A (TTYMPHE) oN oM | edixz Kg. C 10 ........ +120
40 | 425 | 77 | 144 | 325 | 254 | 32 | 33 | 2628 11 FO5 65 50 7x4 25 PN 6/10/16
50 53 | 81 | 162 | 325 |2755]| 32 | 43 | 31 11 Fo5 65 50 7x4 3
65 65 | 87 |1755| 325 | 295 | 32 | 46 | 459 1 FO5 65 50 7x4 35 MPUAMEHA APALICATION
80 | 79 | 99 | 193 | 325 |3245| 32 | 46 | 622 1 Fo5 65 50 7x4 4 * HVAC Cucremn - HVAC Systems
+Cuctemu 3a Boaa « Water treatment systems
100 |1045| 111 | 200 | 325 |3435| 32 | 52 | 906 14 Fo7 %0 70 ox4 6 Wty @ e o Frper ey
125 |1215| 132 | 218 | 33 | 383 | 32 | 56 | 110 17 Fo7 %0 70 ox4 7 + Cuctemu 3a caexasona  + Fresh water system
150 156 | 144.5| 226 33 |4035| 32 56 | 145.6 17 Fo7 90 70 9x4 9 * Mopcka Bona * Sea water
200 | 203 [1855] 280 [ 405 | 506 | 395 | 60 [193.9 17 F10 125 102 12x4 14
250 | 251 |208.5]3145| 405 | 563.5| 395 | 68 | 2416 22 F10 125 102 12x4 20
300 |3025| 251 | 354 | 405 | 6455 395 | 78 | 2023 22 F10 125 102 12x4 33
350 | 354 | 277 | 388 | 45 | 710 | 44 | 92 [3418 22 F10 125 102 12x4 49
400 | 402 | 308 | 416 | 51 | 775 | 50 | 102 | 3888 27 F16 210 165 22x4 )
450 | 455 | 342 | 455 | 51 | 848 | 50 | 114 | 4456 27 F16 210 165 22x4 110
500 |4925] 374 | 490 | 64 | 928 | 63 | 127 |4805 36 F16 210 165 22x4 150
600 | 582 | 450 | 562 | 70 | 1001 | 69 | 154 | 5664 36 F16 210 165 22x4 242

<






